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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. gaef Tayem 319 93 95 W ATHw ifara: fag |

Candidate must write first his / her Roll No. on the question

paper compulsorily.
2. WHTE W AfaR
All the questions are compulsory.

3. WUk W 1 I I S SR-YfEdent | 71 foad

Write the answer to each question in the given answer-book

only.
4. 99 9ol ° it @oe €, 39 94 & S T WY g foad |

For questions having more than one part the answers to those

parts are to be written together in continuity.
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5. U UF o fe<l 9 HAUSH ®UX H fordl ghR &t Afe / FR / foienvmg
M W 5= w1 & 9vF 1 g ued AW

If there is any error / difference / contradiction in Hindi and

English versions of the question paper, the question of Hindi

version should be treated valid.

6. WETHEM 3 Y Ue I T 9Teg |

1-6 1 203

7-13 2 40 s

14 - 22 3 100 s
23-29 4 150 Fs

Q. Nos. Marks per question Word limit of answer
1-6 1 20 words
7-13 2 40 words

14 - 22 3 100 words

23 - 29 4 150 words

7. U €N 30 AHfE & | Haifd § 3R 5w w T |
Question No. 30 is related to map-work carrying 5 marks.
8. TR @M 239 26 3R 28 H ST fasheq © |

There are internal choices in Q. Nos. 23 to 26 and 28.

1. ‘fe= @S’ 9He afas gk foeer falt ?
Who wrote the famous book ‘Hind Swaraj’ ? 1

2. S TEHMAn 1 Ty fore e @ell § gaf ?

In which olympic games was protest raised against racial

discrimination ? 1
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3. fo=l 1 TR-Tdrenoita el & = fafeay |

Write the names of any two non-renewable resources. % + % =1
4. ‘oreq SUSTRI @ gy fafeg |

Write the definition of ‘Under Unemployment’. 1
5. ‘IARIHLO 1 Y TR HIGT |

Explain the meaning of ‘Liberalisation’. 1

6. TdmEdl & Yohe W Icugeh g 2iferd hi1g € SHeRIAl faf@y |

Write any two information given on a medicine packet by the

manufacturer. 1

7. ol GEEHEl S T ST |

Classify the energy resources. 2

8.  9Rd H urfl S el fh=T 9R YR i garsii o =rd fafew |

Write names of any four types of soils found in India.

=2
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N —
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9. 9Rd H YR S aTelt S fafasar 1 guiq Sifsy |

Describe the bio-diversity found in India.

10. Tr=fafea =t gafaa sifsa .

T ECIES)

M) I 1) e

(i) @YW 9)  hrae

(i) T T ) TS

(iv) Hf=M s T)  FA-UER

Match the following : % + % + % + % =2
State Mineral

(1) Orissa a) Copper

(ii) Madhya Pradesh b) Coal

(iii) Andhra Pradesh c) Manganese

(iv) West Bengal d) Limestone.

11. IR S TR ATSHI0 F GHET bl ARAT HIFT |
Discuss the impacts of globalisation on Indian agriculture. 2
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12. 990 STt GUEVT ¥ HIE IR SUE GART |

Suggest any four methods of rain water harvesting. % +

N| =
+
N| =
+
N| =
1l
N

13. Taq drvig fasma & &g o g § 2
What do you understand by sustainable development ? 2

14. Udie TR & gars Sar g0 fwd 9ud &t faa=m wifse |

Analyse the struggle of the people against Rowlatt Act. 3
15-16. =1 4 & f=l 2 ¥l o SR ST

(i) 1929 ! AT HRTHIT & TH@ HIUI I 9 HIFSH |

(i) SHel wal H fova stdegacen # o uftedHl § de-ie o1 YfHeT &1 9uH

s |

(i) 187 W& H U H T WIS IQerd] I qUiH Hifed |
15-16. Attempt any two questions from the following :

(i) Describe the important causes of the Great Depression of 1929.

3

(ii) Describe the role of technology which brings the changing pattern

of world economy in the nineteenth century. 3

(iii) Explain the social changes which took place in the cities of

eighteenth century. 3
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17. 9 SR Tl & o1 Ah-fawrsH 1 gonelt 1 €49 § q9=1sC |
Write in brief the pattern of the division of power between union and
states. 3
18. YA okt TsHIfd H SIfd =t ftent i fora=m ifsa |
Discuss the role of caste in Indian politics. 3
19. T @ifaent =t Ge™al ¥ &eF &t g sife fe ' ama fasm waie faRo
Wi =i o T ST A TRt §
HS Tl o oo JhS
2002-03 | REIYEEY | WA (w1 A vadh | @@ T §
T | & femufe | 9 1000 % w e | wra fawmm
=fF o th 2001 | 3uftgrfq eFuEd| wHIR
EEIE] 26,000 49 70 81 2
HTA 22,800 11 91 91 1
fogTR 5,700 60 47 41 3
With the help of the following table establish the statement that "the
per capita income is not an important parameter to decide human
development rank". 3
Comparative Data of Some States
Per capita Infant Literacy Net Human
State Income Mortality Rate rate % Attendance | development
2002-03 per 1000 2001 ratio for rank of
(inRs.) 2003 Class I1to V | three states
1995-96
Punjab 26,000 49 70 81 2
Kerala 22,800 11 91 91 1
Bihar 5,700 60 47 41 3
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20. YRATE sTefeAa®el § qaiaeh &5 o dig O o &Is did hRo IHeTEY |

Explain any three reasons of rapid increase in tertiary sector in Indian

economy. 3

21. g HEUET YR T& = Y <9 H ST Ha i wnfad Y W E 2 A
T &R N |

Why are Multinational Companies establishing their plants in

countries like India and China ? Give any three reasons. 3
22. WRA H IUNIHI AT &GS fSharea &t &g diF wiHaT sy |

State any three shortcomings of effective implementation of Consumer

Movement in India. 3

23. 1815% 1% UU H fashfad 81 W@ THh T4 ®fgars <34 1 G0 Hifsd |
arerat

foaaam & sufqash forem & & § wiEfEE g fod 1@ ! &1 9 hifsy |

Describe a new conservatism philosophy which was developed in

Europe after 1815. 4
OR

Explain the major work done by the French in expanding colonial

education in Vietnam. 4
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24. T R gfera femoft fafan .

(%) IATRER a1 <0 U9 TR

(@) o ol fhdrs |
3{Yar
(%) fe<i ST=md
(@) &l 39 |
Write short notes on the following :
(@) Vernacular Press Act
(b) The First Printed Books. 2+2=4
OR
(a) Hindi Novels
(b) Bengali Novels. 2+2=4
25. 9d H USHITdeh Sell § GUR & Garel S |
3{Yar
qRA & =gl S U UeiHifaes gall & AT, S wTashH T o=y &1 guiq
HITST |
Give the suggestions for reform in political parties in India. 4
OR

Give the name, programme and ideology of any two national political

parties of India. 4
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26. ClehdifsIeh SMEA YUlTell H ATEA o YR sy |

S PE

Trhdifr IMET Yormett | a1 enfdfer fawma 3q gama dfew |

Explain the bases of good governance in the democratic form of

government. 4
OR

Give suggestions for rapid economic development in the democratic

form of government. 4
27. WA ¥ TSHifad Ui & H1E =1 gara i |

Give any four suggestions for political reforms in India. 4
28. HiT AW of g1 1 wifa faf9a & wrem &1 w1 w3 § | T s |

S PE

STHTRAT 31T ShsleR & s seh fohe Toh HeaEedl &1 &1d oid & ? GHEsT |

Demand deposits also work as a medium of exchange like money.

Explain. 4
OR

How do banks mediate depositors and borrowers ? Explain. 4
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29. T W dfyw fewforar fafey .

(1) ESH e & 0

(i) 9Tg gguUl ! FREIfE e 6 U |

Write short notes on the following :

(i) Merits of road transportation

(ii) Suggestion to control air pollution. 2+2=4

30. (%) feu U vyRa & @ gHfes ¥ fFAfafad = ifea sifs

(i) YR

(i) AT I

(@) fou U vyra & @ qAfes ° 79 a1 Afeha sifsa :

(i) Sicllg gaT &
(ii) YT ST 15
(i) SH URETY] GASA |
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(a) Mark the following in the given outline map of India :

(i) Nagpur

(ii) Poona.

(b) Mark the following in the given outline map of India : 3

(i) Areas of Alluvial soil

(i) National Highway 15

(iii) Kaiga Nuclear plant.
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